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‘But perhaps the most interesting question is: why do almost all of 
England’s 670 Test cricketers come from three main categories?’ 
(alinea 3) 
Een van de hoofdcategorieën is dat ze uit een van de drie noordelijke 
graafschappen komen.  

2p 5 Welke andere twee hoofdcategorieën worden er in de tekst genoemd? 
Geef antwoord in het Nederlands. 
 

1p 6 Which of the following fits the gap in paragraph 8?  
A Even so 
B In other words 
C Likewise 
D On the contrary 
 
 

Tekst 4  Too few on film 
 

1p 7 What is the point made about interracial relationships in midcentury rural 
Virginia in paragraph 1? 
They existed and  
A helped counteract racial discrimination and persecution. 
B used to be prohibited in certain farming areas. 
C were allowed only if there were no overt displays of affection. 
D were more or less tolerated in everyday life. 
 

1p 8 Which of the following fits the gap in paragraph 2? 
A focus on 
B identification with  
C knowledge about 
D suppression of 
 

1p 9 Which of the following is in line with paragraph 3? 
A Hollywood has taken a strong stance against all forms of ethnic 

profiling.  
B Producers fear colour-blind casting will harm their career prospects. 
C Representation of relationships involving couples with different skin 

colours in films remains rare. 
D The film industry has only recently realised it can earn money by 

targetting black audiences. 
 

1p 10 How are paragraphs 4 and 5 linked to paragraph 3? 
A They counterbalance the observation presented in paragraph 3. 
B They highlight the observation presented in paragraph 3. 
C They provide a background for the observation presented in 

paragraph 3.  
D They put the observation presented in paragraph 3 in an aesthetic 

perspective.  
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‘The code reveals the systematic dissemination of social and political 
values through entertainment.’ (paragraph 5) 

1p 11 Which of the following best reflects what this means? 
Films were used to 
A give a boost to popular culture. 
B give the audience a wake-up call. 
C impose particular norms. 
D instigate national debates. 
 

1p 12 Which of the following fits the gap in paragraph 8? 
A challenges 
B denies 
C discredits 
D validates 
 
 

Tekst 5  Jack of Spades 
 

1p 13 How does the main character introduce himself in paragraph 1? 
A as a dedicated worker who questions whether he deserves his present 

success 
B as a frustrated novelist who leagues himself with the likes of Stephen 

King 
C as an accomplished writer who deserves more praise than some 

colleagues are prepared to give 
D as an insomniac and troubled artist with more pretenses than literary 

capabilities 
 

1p 14 Which of the following fits the gap in paragraph 3? 
A Also 
B Meanwhile 
C Nevertheless 
D Thus 
 

2p 15 Geef van de volgende beweringen aan of ze overeenkomen met de 
inhoud van alinea 4 en 5. 
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad. 
1 The “Jack of Spades” novels are more vicious and violent than the 

books Andrew J. Rush puts his true name on. 
2 The ideas for the “Jack of Spades” novels seem to unexpectedly 

materialise in the writer’s mind. 
3 Andrew J. Rush tries to keep his alternative writing career separate 

from the works published under his own name. 
4 The photo that will be used on the back of “Jack of Spades” novels is 

one of Andrew J. Rush wearing an arresting disguise. 
 


